jod ul ‘[(00L/d) +1L1/ir = 1 ‘uag Aug

$d Ul 'p1L990°0 X1 = I ‘Uag 19M

swelb ul ‘5 - H =1 ‘ssew |10S

9'1/8¢ |8198€ |.L'9Z8¢€ |6'99.¢ |0°.69¢€ swelb ul ‘H ‘SSew p|oy\ pue 10S

L'ce8lL | 1°2E8L | L'CE8L |L'Ce8L |L'CE8I swesb ul ‘o) ‘ssew p|oj\ 10300.d

% Ul ‘Q/3 X 001 = 4 uaqu0) Isioy

swelb ul ‘g - ¢ = J ‘I81em JO Sse\

swelb ul ‘D —g =Qq ‘|1os Aip jo ssep

GGLL  [LWvL |22l |s.6  [Szol sweib ul ‘9 ‘ued Jo ssep

¢'699 689 |0°L0L |[8€89 (0129 swelb ul ‘g ‘ued + [10s AIp Jo sse

LGS/ V'V¥9L |€LLL |9S¥L |L'lZL swelb ul 'y ‘ued + |I0S 1oM JO SSEel

gued | pued | cued | zued | ued Jagwnp ued
‘uolysanb

wexa ay) saysjew jey sjqe} asn -obed papis-z e si SIYyl :J1ON




jod ui ‘[(00L/d) +1L1/r = 1 ‘'uag Aug
jod ul ‘#9900 X1 = ‘us@g aMm

swelb ul ‘9 - H =1 ‘ssew |10g

L'8G9.E |vPClE |6V69C |2 9Y9C swelb ul ‘H ‘ssew pIO\ pue |I0S

9698l 9698l |9698L |96G8l swelb ul ‘5 ‘ssew p|oj\ Jo100.d

% Ul ‘Q/3 X 00} = 4 ‘Jusju0) “Jsiop

swelb ul ‘g - ¥ = 3 ‘J2}em Jo sse|

swelb ul ‘g—g = ‘n1os AIp jo sse

096 G'66 £'86 0¢cil |908 swelb ur ‘9 ‘ued Jo SSep

9¢€lS [€L¥S [Glz9 [€10L [T¥vL swelb ul ‘g ‘ued + [10S AIp JO SSE|

€99 |8VC9 |€60L |(C'C6L |.L'8¢C8 swelb ul ‘Y ‘Ued + |I0S 19M JO SSel

Gued | pued | gued | zued | | ued JaquinN ued
‘uoiysanb

wexa ayj} sayajeuw eyl ajqe} asn -obed papis-z e si Siyl 410N



